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A+ (-2x>4+3x+1) =4x* + 2x+3
A=(4x>+2x+3) = (-2x* +3x+ 1) =6x> —x + 2
Lo(6x2—x+2)— (2% +3x+1)
=8x% —4x+1
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A+ (—2x? — 3x) = 2x* + bx

A = (2x% 4 5x) — (—2x? — 3x) = 4x* + 8x

wheba] HEE A ALSHAE (4x° + 8x) — (-24% - 3x) =
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4.  (2x-5y—1)+ (3x -3y +2)= 7+35] 514H?

@D 2x-3y+2 @ 2x+5y-1 ® 5x—6y+4

(@)5x—8y+1 ® 5x-5y+3

(2x-5y—-1)+ (3x—-3y+2)
=2x—-90y—1+3x-3y+2
=5x—-8y+1
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DO b=— @ b=v+ 32ab
sab v 8V
®bzv+2a+8 @b:ab—32
V + 8a — 32
h=-—— """ °
@ 20— 8
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V=(a-4)(b—4)x2=2ab—8a—-8b+ 320|E2
b(2a-8)=V+8a-32
V 4+ 8a - 32
T 2a-8
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3 x 367ma® x h = 36ma?b® — 24nab?

12a%h = 12a2(3b3 — 2b%)
" h=3b% 22
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@ 2ab - 47 @ 2ab—c;27r @Zab— §a27r
@ 2ab - 2a*n ® 2ab- §a27r
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S =2ab—zlxnx(2a)2—§xnxa2
= 2ab — a’n — =d’n

= 2ab — §a27r
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@ 9b+1 ® 27ab +1

1
(AHrE o] Hal)= 3b% x a X x X ne 27a?b* + ba

ab?x = 27a%b? + b%a
Lx=2Ta+1




